Qujwrh yhinwlwb tpudonwlyub pnike

Swpbljwb Jupdp
Niudwy nbnnnipniup J&wpniyh
unniuk 1 mbink u
Clgortbpput wkntph putwln (nwupp/wmdhu) niunigdwt
Uwubwughnnipjut hwdwp (gpud)
Z/h winjwintdp Dpwiuninponip Unlyu Zmulu Unlym Zmulu
hhuuljui Uhotmljmpg
Yppoipyundp | Yppoipjundp | uhgtwmiwpg | hpdbwhmb | uhghmlimpg | dhgtwlwmpg Unlu Zbouryw
win&wmp / win&wmp / Yppmpjudp | Yppnipjundp Yppmpjunlp | Ypenipjundp
Y&wpngh Y&wpngh
1. | @opshpuyhtt junwpnnuljuh Twuwjwtinng -
wpybun «ruptwdnip» dwubwglin gnpshpuyhtu 7 i 4 4 4 920,000 )
juunupnpujut wpdtunh
(quptiwdnip)
2. | Qapshpuyhlt junwpnyuljui Twuwunnn-
wpybuwn «Lupught» dwuliuglin gnpShpuyhte 0/2 i 4 4 4 290.000 )
Juwnwupnnuljut wpgtunh
(qupuyht)
3. | @npShpuyht junwpnnuljut Twuwjwlinng -
wpytun «Fnnnyppuljute dmuhmqhm‘qnpéhpm]hh i )
gnpdhpubip» Juunupnpuijut wpdtunh 72 4 hn 4 220.000
(dnnnypnuiljut gnpdhplikpn)
4. | Bpghgnnnipniu Bnghs-junnwpng 6/2 - 4un 4n 4 220.000 -
5. | @bnuulupsnipni ‘Uwphs-puuwdunnn 10/5 - 50 5w 5w 220.000 -




